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①(a)

#
~000, 000 license plates

①(b)
5

F
-FFFF

S 4 . 3 . 2. 1

# such permutations is

5 . 4 . 3 . 2 .1



②(a) S = E(1 , 1) , 11 ,21 ,
(1
,
31
,

(2 , 1) , (2 ,
2)
,
(2 , 31 ,

13 , 11 , (3 ,
21
,
(3 ,31]

(b)

E = 5(1, 1) , (1 , 21 ,
11

,
313

F = [(1 ,2) , (2 , 2) ,
(3 , 213

EnF = 5(1 ,2)}

EUF = &(1/
11 , (1 , 2) ,

91
,
3) ,

13 ,2), 13,21

F = 5(1 ,1) ,
(1
,
3) , (2 ,

1)
,
(2 , 37 , 33 ,

13
,
13 ,31]

(C)

p(E) = E
= 5

p(F) = =
= 5



③ (a)

HW2#9(a)
Practice test

#3(a)

-

③(b)
Hw2 #12(a)

-



⑦ (a)

-i
4 ways

the Y

See: Chose ealves ·
13 - 12 · 11 . 10

(h)=4 . 3 . 2-1

= 715 ways

probability=



⑤

(a) (3)==

Ib= 0 .04.
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